The Stuary 2013

THE REPORT OF THE PROPERTY OF	WENDYS 25	WHNDY	TO WENDYS	S3	F S	SUB
ar ay an	S GRILLIO	WENDYS CHICKEN BAGHIS	property pro	WENDYS CHICKEN	ORDERS FORMS NEED TO BE RETURNED BY JANUARY 187H	and the strain of the strain o
байдарды дар балада жалында жана меренденеден а даманың анынатының айдамдық мередеке мередеке бесеке бесеке бе	BAGHIS 27	BAGHIS 20	BAGELS	1/2 Day	T B B	A CA
	TAC98	MOZZARELLA STICKS	S S S	MOZZARELLA STICKS		je. 3. d. l. 3.
		22 A 3 3 3 A Y	programdy programs of the second seco		parganet de la constant de la consta	En de de de de des des des des des des des
		23	5			

Please circle selections. DO NOT cut form.

OLOL Lunch Program - Feb. 2013 - Return by January 18

Grade:	Name:					
	Meal with chips @ \$3.00 each Hamburger Cheeseburger Chicken Nuggets Chicken Sandwich Chili					
Mon, 4th Total Cost	A la carte @ \$2.00 each Side Salad Side Caesar Salad Potato Plain Potato Sour Cream/Chives					
\$	Other items @ \$0.50 each - Pudding Apple Sauce 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Bag of chips					
Tues, 5th	\$3.00 each : Chicken & Rice or Chicken & Salad (circle one)					
Total Cost	\$1.50 each : Sandwich-Ham or Turkey or Cheese or Crm Cheese & Jelly - Salad -					
\$	Cereal w/Milk \$0.50 each : 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding					
Thurs, 7th	\$3.00 each: Mozzarella Sticks w/Fresh Veggies or Mozzarella Sticks w/Salad					
Total Cost	\$1.50 each : Sandwich-Ham or Turkey or Cheese or Crm Cheese & Jelly - Salad - Cereal w/Milk					
	\$0.50 each : 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding					
Mon, 11th Total Cost	1 MASI WITH COINS (A) 3-5 UT 62CD					
\$	A la carte @ \$2.00 each Side Salad Side Caesar Salad Potato Plain Potato Sour Cream/Chives					
20103	\$0.50 each - Pudding Apple Sauce 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Bag of chips					
Tues, 12th	\$3.00 each : Grilled Cheese & Soup or Grilled Cheese & Salad (circle one)					
Total Cost	\$1.50 each : Sandwich-Ham or Turkey or Cheese or Crm Cheese & Jelly - Salad - Cereal					
\$	\$0.50 each : 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding					
Wed, 13th Total Cost	Meal w/îce Cream @ \$3.00 each: Bagel w/Butter Bagel w/Cream Cheese Pizza Bagel Plain or with Pepperoni \$2.00 ea- Plain Bagel w/Ice Cream					
\$	\$1.50 each : Sandwich-Ham or Turkey or Cheese or Crm Ch & Jelly or Cereal					
to state of which the state of	C\$.50 each : 2% milk Yoohoo Juice Water Ice Cream Bag of Chips					
Thur, 14th	\$3.00 each : Tacos/Hard Shell or Taco/ Soft w/corn (circle one)					
Total Cost S	\$1.50 each : Sandwich-Ham or Turkey or Cheese Salad Nachos Cereal w/Milk \$0.50 each : 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding					
	Page Total \$					

Mon, 18th Total Cost	Meal with chips @ \$3.00 each Hamburger Cheeseburger Chicken Nuggets Chicken Sandwich Chili A la carte @ \$2.00 each Side Salad Side Caesar Salad Potato Plain Potato Sour Cream/Chives \$0.50 each - Pudding Apple Sauce 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Bag of chips
Tues, 19th Total Cost	\$3.00 each : Chicken & Rice or Chicken & Salad (circle one) \$1.50 each : Sandwich-Ham or Turkey or Cheese or Crm Cheese & Jelly - Salad - Cereal w/Milk \$0.50 each : 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding
Wed, 20th Total Cost	Meal w/Ice Cream @ \$3.00 each: Bagel w/Butter Bagel w/Cream Cheese Pizza Bagel Plain or with Pepperoni \$2.00 ea- Plain Bagel w/Ice Cream \$1.50 each: Sandwich-Ham or Turkey or Cheese or Crm Ch & Jelly or Cereal \$.50 each: 2% milk Yoohoo Juice Water Ice Cream Bag of Chips
Thur, 21st Total Cost S	\$3.00 each: Mozzarella sticks w/fresh veggies or Mozzeralla sticks w/ salad \$1.50 eash: Sandwich- Ham or Turkey or Cheese Or Crm Ch & Jelly or Salad \$.50 each: 2% Milk Yoohoo Juice Water Chips Rice Krispie Treat Goldfish Cookie
Mon, 25th Total Cost \$	Meal with chips @ \$3.00 each Hamburger Cheeseburger Chicken Nuggets Chicken Sandwich hill A la carte @ \$2.00 each Side Salad Side Caesar Salad Potato Plain Potato Sour Cream/Chives Other items @ \$0.50 each - Pudding Apple Sauce 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Bag of chips
Tues, 26th Total Cost S	\$3.00 each: Grilled Cheese & Soup or Grilled Cheese & Salad (circle one) \$1.50 each: Sandwich-Ham or Turkey or Cheese or Crm Cheese & Jelly - Salad - Cereal \$0.50 each: 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding
Wed, 2744 Total Cost S	Meal w/Ice Cream @ \$3.00 each: Bagel w/Butter Bagel w/Cream Cheese Pizza Bagel Plain or with Pepperoni \$2.00 ea- Plain Bagel w/Ice Cream \$1.50 each: Sandwich-Ham or Turkey or Cheese or Crm Ch & Jelly or Cereal C\$.50 each: 2% milk Yoohoo Juice Water Ice Cream Bag of Chips
Thur, the Total Cost	\$3.00 each: Tacos/Hard Shell or Taco/ Soft w/corn (circle one) \$1.50 each: Sandwich-Ham or Turkey or Cheese Salad Nachos Cereal w/Milk \$0.50 each: 2% milk Yoohoo Juice Water Gogurt Rice Krispie Treat Pudding
	Page Total \$

Please CIRCLE your selection. Please fill in all TOTAL DUE and PAGE TOTAL

Pizza Lunch – Friday, Feb. 1st	1 Slice of Pizza @ \$2.00	2 Slices of Pizza @ \$4.00	
Name:	1 Garlic Knot @ \$.50	2 Garlic Knots @ \$1.00	
Grade:	3 Garlic Knots @ \$1.50	4 Garlic Knots @ \$2.00	
Total due: \$	\$.50 each: Ice Cream Water	Juice Yoohoo	
Pizza Lunch – Friday, Feb. 8th	1 Slice of Pizza @ \$2.00	2 Slices of Pizza @ \$4.00	
Total store 0	1 Garlic Knot @ \$.50	2 Garlic Knots @ \$1.00	
Total due: \$	3 Garlic Knots @ \$1.50	4 Garlic Knots @ \$2.00	
	\$.50 each: Ice Cream Water	Juice Yoohoo	
Pizza Lunch – Friday, Feb. 15th	1 Slice of Pizza @ \$2.00	2 Slices of Pizza @ \$4.00	
Fizza Luncii – Fiiday, Feb. 15tii	1 Garlic Knot @ \$.50	2 Garlic Knots @ \$1.00	
Total due: \$	3 Garlic Knots @ \$1.50	4 Garlic Knots @ \$2.00	
	\$.50 each: Ice Cream Water	Juice Yoohoo	
Pizza Lunch – Friday, Feb. 22nd	1 Slice of Pizza @ \$2.00	2 Slices of Pizza @ \$4.00	
	1 Garlic Knot @ \$.50	2 Garlic Knots @ \$1.00	
Total due: \$	3 Garlic Knots @ \$1.50	4 Garlic Knots @ \$2.00	
	\$.50 each: Ice Cream Water	Juice Yoohoo	
½ Day Snack- Wed Feb. 6 th	Bagel w/butter @ \$2.00		
Total due: \$	Bagel w/Cream Cheese @ \$2.00		
	Plain Bagel @ \$1.50		
	\$.50 each: Water Juice Yoo Gogurt Animal Cra Apple Banana		
Tag Day- Friday Feb 22, 2013	en de cui de la manta de combasta de la combasta d	to officer for the end of the end	
Student's Name (\$1) or Family Name Grade(s): Amount enclosed: \$			
	Page to	otal	